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1,687,200,0002 1,687,200
[ 337,440
Ea 1,349,760
O sALX TaA(2])
600,000,000& 600,000
402 2IZtA=01d 342,116 339,85 2,261
=S 24,221
s 317,89%
02 RIENEASEZ(0IETHR) 342,116 339,855 2,261
OMYNILE0l 22 XI&AE (&)
209,829,000 209,829




SN =™
M =9l MAD|Y XA
&t dedsy N (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 24,221
= 185,608
OMIILE0l 22 XIAKE (Zdl)
132,287 ,000& 132,287
AlXNZ S T DAY 885,910 1,180,663 N2, 753
c 139,665
= 746,245
402 SIZHXHE01 M 885,910 1,179,663 N293,753
= 139,665
= 746,245
01 CIZFE AL SR (KHMITHS) 358,000 282,000 76,000
Ol 23 XE AL
30,000, 000& *12=*50% 180,000
OBM LETSIHED| KSAIS
10,400,000 * 10CH*50% 52,000
O=0|22& AMBES HATHEH K& AFS
4,761,900 x21ha*50% 50,000
OYoli= 2l BRHDI(EAZYH0!) X Al
[ 76,000, 000& *2CH*50% 76,000
02 QIZHEAIE E X (0IHTHH) 527,910 897,663 N369,753
O2n XA 45, 000& *240CH *40% 4,320
= 1,080
= 3,240
O0lsAl s &H0 XA
560, 000! *145CH*80% 64,960
& 16,240
= 48,720
OHFLEEX2AIE (XH=3
320,000,000 * 120 2 *50% 160,000
= 48,000
= 112,000
OsgEg 228 1
20,000, 000& *2CH*50% 20,000
& 6,000
= 14,000
SSHEXAHX X&AFY
30,000, 000& *4CH*50% 60,000
= 18,000
= 42,000
O=2HX)| XA 13,000, 000 *3CH*50% 19,500
= 5,850
= 13,650
Ot HIDHEGIRA AlE XIE
39,000,000 & * 1A 39,000
& 9,000
= 30,000
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SN =™
MM =9 MAD|E XA
&t dedsy N (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 743,273
s 1,114,909
14 IIEt2 8= 1,858,182 1,871,612 A13,430
02023 B BHHHHH ASEHAES
1,858, 182,000& » 14 1,858,182
= 743,273
Ea 1,114,909
=N OIsgE 8+ =201 N 81,014 82,134 A1,120
101 21AH| 81,014 82,134 A1,120
M IHZZ2NSE 81,014 82,134 AT1,120
O=92=H 022 84 &0 N 81,014
—JlEs 79,2003 x11E 70 60,984
-5+ 79,2003 x11H*12& 10,455
—E X 79,2003 x11H <3 2,614
—=28= 74,052,000 9. 4%+ 12] 6,961
sEFE=sY JIgt1= 640,000 0 640,000
= 240,000
= 200,000
o 200,000
402 2I2F X201 & 640,000 0 640,000
= 240,000
= 200,000
Ea 200,000
02 QI X2 AL E R (01X THE) 640,000 0 640,000
QBB J|BAS AETY|
800,000, 0002 *1JH 2 +80% 640,000
= 240,000
= 200,000
[Ea 200,000
=oll OriS= ZEAIE XA 7,200 0 7,200
= 3,600
= 1,080
o 2,520
402 212t X201 & 7,200 0 7,200
= 3,600
& 1,080
= 2,520
02 QIZHHE AL E (01X THE) 7,200 0 7,200
OFoll OtdsS=E ZBAIE K&
1,800,000 *5CH*80f% 7,200
= 3,600
< 1,080
s 2,520




A s
M =0l MAD|E B4
el dEdsgy N3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAXNEM 14,905,000 13,942,000 963,000
= 14,905,000
301 EtE NS 14,905,000 13,942,000 963,000
= 14,905,000
14 DBt 2 a3 14,905,000 13,942,000 963,000
Ol BAUNE3
14,905,000,000& *14] 14,905,000
= 14,905,000
SAXNSH EHl X2 62,353 51,040 11,313
= 62,353
201 Ler23 | 62,353 51,040 11,313
= 62,353
01 AtR2t2|HI 62,353 51,040 11,313
OJl=8 BAUREZH M2 By
62,353,000 * 14! 62,353
= 62,353
e MAEX] wsHEE X3 52,200 36,000 16,200
= 29,000
= 6,960
= 16,240
307 elztol & 52,200 36,000 16,200
= 29,000
< 6,960
s 16,240
02 2IZHB A E & 52,200 36,000 16,200
Q20244 Jt24 MACT] T8 (us A4E)
58,000, 000& *90% 52,200
= 29,000
< 6,960
= 16,240
=0t MAET] ws AEE X2 26,280 0 26,280
= 14,600
[ 3,504
T 8,176
307 glztol & 26,280 0 26,280
= 14,600
== 3,504
o 8,176
02 LB AANHEE 26,280 0 26,280
O=MUMMET] WE HEE X (2EXR})
,200, 0003 *1JH 2~ +90% 26,280
= 14,600
s 3,504
s 8,176




A s
M =0l MAD|E B4
el dEdsg A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HENE HEH 1,581,000 0 1,581,000
= 1,581,000
301 EtE NS 1,581,000 0 1,581,000
= 1,581,000
14 DBt 2 a3 1,581,000 0 1,581,000
odsx=E MEH 1,581,000,000& 14| 1,581,000
= 1,581,000
SHUAD|BAE &E 4,175,170 7,034,320 22,859,150
s 855,000
s 3,320,170
2=l ZZEH 783,030 700,430 82,600
2= & FHIEZE 390,560 307,000 83,560
201 =3 210,060 125,060 85,000
01 AtR2t2lt] 13,060 13,060 0
O&X datg TEy EH 7
205, 00021 +43| 1,180
Oselgels cosg 81 79
23,0002 *502 1,180
OH=3d 7€ 60,0003 *32 180
OSIMHEEX 7 150,000 32 450
OYLRB THPY(SHMAI|B LHIIF
s) 50,000& *102 500
Od=& &gt ae| el
1,200,000 8K A 9,600
02 s3=gHl 197,000 112,000 85,000
Og+=d &JIe=s 110,000,000 * 14! 110,000
olgayd 2=
110,000 72 1000 A& 77,000
Ot (J+3)tidl 1S X
200,000 x2& x250H 2 10,000
401 Al HIZ R 0HbI 180,500 180,500
01 Al&H| 180,500 80,500
YaF Bat| 5,000,000+ 167 4 80,000
OY4E =HT THH]
10,000,000 *3H 2 30,000
OY=g F=2 Julbl
20,000,000 *3JH 2 60,000
OsH ER &=+ 24|
60,000 »100CH 6,000
O, 2=J| =3 H3H4|
225,0003 * 1220 4,500
28 JHIAIY 392,470 393,430 A960
401 AIEHIX SO 392,470 392,470 0
01 AlZH| 387,000 387,000 0
OUg2d 248l 3,000,000 *15JH £ 45,000




A s
M SQMAIUAIL BHE
chelr 2=FHl 33 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
otg2s 22 Zuld
3,000,000 * 1000 2 30,000
OougZd =28 uAbl
4,000,000 * 1504 2~ 60,000
Ok= ¥= & e WKl
12,000,000 6K 2 72,000
O=g8+ HEAY
80,000,000 *1IH 2 80,000
ougZd ssJ2t AZ0 WE Xt &
sEt 89 100,000, 0003 * 14! 100,000
03 Al 20HHI 5,470 5,470 0
Olg2d & Al
109,4003 x50 2+ 12] 5,470
A22SUEFAIE S| 3,327,140 6,140,140 A2,813,000
= 855,000
[Ea 2,472,140
M=Kl A4 EHl 490,400 1,131,880 641,480
201 eer23| 3,000 3,000 0
01 AtR2t2|HI 3,000 3,000 0
OX==Xl HI&E& (2HA)
1,500,0002 *23] 3,000
401 AIEHIZ SR 0HYI 487,400 1,127,800 640,400
01 Al&H| 487,400 1,127,800 640,400
2|AlE SXZeldl 1118 (1248])
60,000,000 * 14 60,000
OXM==Xl 2=t 5,000,000 * 1291 2 60,000
OM==Xl Mg St & +=ZHAHbI
900,000& #78H A+23] 140,400
OFtEHHl SEEX
20,000,000 * 11 2 20,000
OXN==Xl etd2te| 2LIEHE EXIA
15,000,000 *59H 2 75,000
O==Mit sg=segdsa2
300,000& 204 6,000
O=gMa |8 S)l=+=2
50,0002 *804 4,000
OM==Xl St & B
25,000,000 #4002 100,000
O7dX7 MoHAS XS ZIIHEAAE =
NE+ES 22,000,000 x14] 22,000
Sti==2 ZHIAME 1,224,340 2,254,900 1,030,560
< 245,000
T 979,340
201 Ler23 | 2,640 2,640
01 At2tltl 2,640 2,640
OsIIEHE SotAE =& S|
8,000 +x3&»110! 2,640




24 =8
M SHMAIIBIAIE &F
Rl AnE2sgEsALE EER=E)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
202 Ot 6,700 1,260 5,440
01 =WHO4bI 6,700 1,260 5,440
O=gI|BE SotAIY =& 0ddl
6,700,000& 6,700
401 Al&HIZ 20| 905,000 1,526,000 A621,000
= 145,000
= 760,000
01 AlEHI 905,000 1,526,000 A621,000
OS2 SBLIHI(FL L +224 )
100,000,000 * 14 100,000
O 2i+2 24
10,000, 0002 * 1290 &~ 120,000
OSAMATIHAIL AR MAIEH Eob)
50,000,000& 50,000
O2=H Ol FHIE Ex3At
60,000,000 14! 60,000
OaIIH =4te| S22 EHIZA
35,000,000& 14! 35,000
OMT0 Y&E 3 842 B43A
20,000,000 14 20,000
O4&=20H GE02 = Y2 EXISA
15,000,000 & * 1A 15,000
O4=20 g3l S22 ZHIZEA
25,000,000& 14! 25,000
OSAtsH &2 A &EIA
40,000,000 *14] 40,000
OSAMsH AE1F OHA wHSA
35,000,000 * 14 35,000
O=SA=H =4+ A wAHISA
30,000,000 14! 30,000
O=3H Sl S22 EX3A
20,000,000 14 20,000
OLNEH S0 FHSE EXSA
25,000,000& 25,000
O3 EF0tS =2 BZ3A
35,000,000 14! 35,000
O=nH =X 2 SHEISA
15,000,000 14| 15,000
O=21H d=22| Hix== HUISA
15,000,000 & * 1A 15,000
Ogd A&7 =2 EXI3At
15,000,000 & 14! 15,000
OZH 832l S22 EUISA
30,000,000 14 30,000
O&d XelotE stis==2 HUIZSA
20,000,000 * 14! 20,000
O24HH 0IA & =2 ZBIALY
20,000,000 14! 20,000




A s3I
M SHMAD|BIAIL &5
Rl AnE2sgEsALE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 2202 SHi+2 FHIAY
20,000,000 % 14! 20,000
Ot XZA0IS SHIH2 FHIAI
15,000,000 % 14! 15,000
OB42 S48 242 HHIAIY
30,000,000 * 14! 30,000
= 30,000
O34T S4S S2FHISA
30,000,000 * 14! 30,000
[ 30,000
OB4T 53 2 NP 2Hi+2 FHIA
gl 50,000,000 % 14! 50,000
= 50,000
OZ4Z MJIH SHI+2 FHISA
35,000,000 % 14! 35,000
= 35,000
403 RFXISHHI S RH20I & 310,000 725,000 415,000
= 100,000
> 210,000
02 BIIZSOICHBHRHE X P EFAI L] 310,000 725,000 415,000
O&l|e 2Se2| 2Hi42 FHISAH
30,000,000 *14! 30,000
OSAISY B2l 2Hi42 FHISA
70,000,000 % 14! 70,000
OSSN BA2l 8422 FHISA
40,000,000 * 14! 40,000
Ot 232| 2Hi42 FHISAH
70,000,00024% 14! 70,000
O242 SNH &4+2 XTSI
100,000,000 14} 100,000
== 100,000
SO|BHEEH| (Al RISRIAIE) (HEALY) 610,000 1,750,000 21,140,000
== 610,000
401 AIZHIZL S THY 610,000 1,750,000 1,140,000
= 610,000
01 Al&ZHI 610,000 1,750,000 1,140,000
OAR1H 2IAIE HESALY
560,000,000 14! 560,000
= 560,000
ODH HHM $2IAE HESA
50,000,000 % 14! 50,000
== 50,000
JIZMEOIT (X HEa B2 (M EAI) 402,400 803,360 400,960
401 AIZHIZL S THY| 402,400 803,360 400,960
01 Al&ZHI 400,000 800,000 400,000




A s
B SQMAD|PAIL EE
e AnRsgsSsAlE JH (Gt H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
O&d X+ XE= £
150,000,000 *14] 150,000
ONEH AKX NE=22ZHE
250,000,000 *14] 250,000
03 Al 20HHI 2,400 3,360 A960
OXlE= 22 Al
400,000,000 +0.6% 2,400
SI|BHEHIAIE (2R ) ( Atd) 600,000 200,000 400,000
401 Al HIZ 2018 600,000 200,000 400,000
01 Al&H| 600,000 200,000 400,000
OXM==Xl &4 100,000,000 #20H 2 200,000
O==M==Xl EHIA
400,000,000 * 10 2 400,000
tS CHZH 65,000 115,000 /50,000
SHLUIHIS I ALS 65,000 115,000 50,000
401 Al HIZL 201 65,000 115,000 /50,000
01 Al&HI 65,000 115,000 /50,000
Oetolf A SH| ZHlbl
8,000,000& 14| 8,000
Ostoll U2 &F=J]
3,000,000 *4CH 12,000
Ogtaolf tHel 2t0l e
45,000,000 * 11 2 45,000
2 |4 6,938,363 5,162,628 1,775,735
= 398,593
= 207,231
= 3,632,539
CH 2,700,000
s8ddg Na 6,296,883 4,710,988 1,585,895
= 398,593
= 207,231
o 2,991,059
CH 2,700,000
el Fgetd X 419,536 374,600 44,936
201 er23 | 3,836 3,820 16
01 At2teltl 3,836 3,820 16
OllcH=HE StAE =& S234iH|
8,000& ~4 & +83& 2,656
OgRs Zel”d EY #Y
295,000 *1CH*43] 1,180
202 04| 5,700 780 4,920
01 =LHO LI 5,700 780 4,920
OllcH=sHE StAr G1a]]
5,700,000& 5,700
301 EtE N = 410,000 370,000 40,000




A s
M s 84
el =888 A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 410,000 370,000 40,000
013 SN=22 S=s338 Xd
410,000,000 x 14 410,000
Hesgol =N AZA 580,600 560,800 19,800
=S 162,568
s 418,032
307 21201 & 580,600 560,800 19,800
== 162,568
[Ea 418,032
02 LB HANHEE 580,600 560,800 19,800
O0E sl H=HSH X
200,000& *2,903H 580,600
= 162,568
= 418,032
sE SSAHlA gde N 132,000 150,000 18,000
= 92,400
o 39,600
307 @I2t01 & 132,000 150,000 18,000
= 92,400
o 39,600
02 LB HAHE L 132,000 150,000 18,000
OsE s2AHIA 243 2
66,000,000 *x20H 2~ 132,000
= 92,400
= 39,600
SE MEHIUA MY 1,828,820 1,117,400 711,420
101 @124H| 114,060 66,240 47,820
04 JIZtN22 XS 2+ 114,060 66,240 47,820
OsE MEASHAMY =T Q1A 66,240
—Jlzs 2,600,000 «2&12& 62,400
—4HEE= 160,000& x2&~ 123 3,840
Otlgls2 RFA JIZHH22 AL 212 47,820
—Jl2= 79,2003 x2EH 2202 34,848
—F5=4 79,2003 x2& *45%= 7,128
—Ei==g 79,2008 2 * 102 1,584
—4UEEE 213,008 2+ 108 4,260
201 Ler=23 | 34,760 14,200 20,560
01 At2teltl 16,760 3,400 13,360
OsE MEHEHAMNY =8 2]
200,000 %122 2,400
O=Ft 2tg3 28 =23 78
100,000& * 102 1,000
Otilg2s2 AR 28 ARES € &Y
- 295,000 x2CH*43] 2,360




A s
M s 84
el sgdg d (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Otlee=ss® 822 M
2,000,000&+35 6,000
Otiglss 222 82
5,000,000& *12] 5,000
02 s3=gHl 18,000 10,800 7,200
OHige =8 28&1 2IHI(&D], =&,
2eldl) 1,500,000& «12& 18,000
307 elztol & 1,680,000 0 1,680,000
02 2B YA E X 1,680,000 0 1,680,000
OsELEASHYA SMNAIY FE(21~234 ZHI
&) 1,680,000,000& 1,680,000
SEXNDIBELE(XIFsY USAE 25) 150,000 0 150,000
401 AlZHIZ SO 150,000 0 150,000
01 A28l 150,000 0 150,000
OXlgsg 24 HE Z83AH2023E At
) 150,000,000 * 14! 150,000
A0 58 |4 2,717,400 2,103,360 614,040
s 17,400
CH 2,700,000
201 Ler23| 17,400 2,400 15,000
01 At2teltl 2,400 2,400 0
OFH=T CIFAHI0IE 5124H 4 FA
apedull 200,000 %122 2,400
02 S3=gHl 15,000 0 15,000
O&d=gel SUE ANEE RAES
3,000,000 *5& 15,000
401 Al HIZL 201 2,700,000 2,100,000 600,000
CH 2,700,000
01 A28l 2,700,000 2,100,000 600,000
OFE=sR FHI0IE SIEME =4
2,700,000,000& *14] 2,700,000
CH 2,700,000
FAsYo d2S0iel 25 KA 2,500 2,500 0
== 625
o 1,875
307 212+01& 2,500 2,500 0
< 625
= 1,875
02 LB HAHE L 2,500 2,500 0
OFd=sgel Hd1s0tel X3
2,500,000 * 104 2~ 2,500
= 625
[Ea 1,875
3 YT ZEAMY 17,500 25,000 AT,500
s 3,750
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A s
M HZRAZHI(SEM)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 14,704 21,664 26,960
OSHI LAY (LY. S)
6,400,000& 6,400
OZet=AD| Sl= 300,000 * 12 3,600
O3I1E8I| |X2ell
56,0003 » 122 2CH 1,344
ORA JI2Y2 48 ZE S2341|
3,360,000& 3,360
02 S3=gl 14,167 14,929 ATE2
Os3(¢43)g: =4 288 2,631
—E2S<H 4302 +2,00024 860
—s|I*# 2,530 70021 1,771
O2AEXE FAl 22/l
700,000 #2CH+33] 4,200
OZsitg AgH| 6,846
—3Egs U 1,730& %100 £ =123 2,076
—d% X 1,500& %250 £ =123 4,770
O&EXtg NSIHA 490
—less 400,000 *1CH 400
—dgss 90,0002 1CH 0
202 04| 4,800 20,460 /15,660
01 =LHOLI 4,800 20,460 215,660
OSET AL X 048
4,800,000 * 14 4,800
203 HR=H| 3,600 4,200 2600
0 FAZSLRFAI 3,600 4,200 A600
OsEI 2H2Y ez
3,600,000 %14 3,600
Hees(sdgn) 5,000,000 1,000,000 4,000,000
WA XIE 5,000,000 1,000,000 4,000,000
WA XIE 5,000,000 1,000,000 4,000,000
701 JIEtRI HSHES 5,000,000 1,000,000 4,000,000
O1 et AN ES 5,000,000 1,000,000 4,000,000
O=2UASXNA) = SEIH HES
5,000,000,000& 5,000,000






